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— 191D YR QTN PN AP
There is a presumption that a person is not brazen faced

OVERVIEW
127 states that there is a 7P that (121 9¥2 °192) 1710 1Y 07X PR, It is not clear
what this 7P is based on. Why do we indeed assume that »"XX? Our n501n

first cites s""w" explanation, refutes it, and then offers his explanation(s).

= YN DTN PRT (x,1p 97 8np 832) 1IN DIVNPN YIY MO XD

It is not as >"'w" explained it in %7137 P15 that a person is not 1y» —
- YN P19 HAN YNMYAY N2V 1Y DYV %95
since the M>» did him a favor, that he lent him money; however by a
deposit the watchman is ¥%. The depositor did no favor to the watchman; on the

contrary the watchman is doing the depositor a favor, therefore the watchman can be v
without reservations.

mooin disagrees with *"wA:

- 951 99Y9 P INT NN NV NP 39) NYPN NN TP )5 ONT
For if this is true (that by a 1175 the W is yn) then it should follow that
a nxpn2 77 by a 177pp should be "W from a 7¥1aw, for he has a 1a» that
he could have been a ®2;7 92%2. If the 1™ would be %5:7 79915 he would be T1w5 from
a 2w (according to Maon, even if he is 1°¥n);> he should therefore also be 7¥1awn MWD
when he is a n"21 by a 117p9. In the case of a Mm%, the M? has no w» of "M2, since n"RK
(he could not have [as easily] been a 3"m>); however by a 1752 »"2m, where the W
can be 1y (according to *"w7), he should be m¥awn Mo with the 11 of 2"73.

moon will now prove that a n"21m by a NP5 is AW 21MN:
= 1792 29N NEPN NTINT YNRWN NNT YO

And in all places it seems that a %2y in a Y75 is 29917 a nv1aw. nvoOIN offers

some examples —
= 191P93 Y99RT YNRWNT (3,3n 97 mmaw) 29D 9 9N0N MNYL MID) TUY *3)

1'93x 7" 72770 7"

2 See previous *19n A"7 MooIN that a 9377 1912 is always 7v12wn MWD even when he is 1vn. [However "1
maintains in P"2 that by a 1725 where he is not 1°v», a 7312w is required (even) for a 7377 1913, See MR 7"20
msoIM *"wn Muwa '[5’}(1 no]

3 The 701 claimed that he received only five. There is a npYonn whether the 71 is required to swear;
depending whether the grapes are considered ¥p7p% 221mn (which is av12wn 7w0). However if it would not
be considered ¥p7ph 1211 then the 7991 would be 7912w 2 nn even though it is a 17729; not a ARI?A.
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Concerning the case where the plaintiff claimed ‘I have delivered to you
ten laden grapevines, etc. It seems?* there that the 7iwn is discussing a
117772 situation and there is a 7v12Ww 211 —

mooIn offers an additional example —
= (x,m 0v) MY NN DINYI PIY INNDN YOO *aN

And concerning the case where the Mm% claims to the m>» ‘you lent me a
p»o for the collateral that I deposited by you which you subsequently lost,

and the collateral was worth two o°v%0, and therefore you owe me a ¥90°, etc.” The
M7 is required to swear a 221 NAw to the M?; even though the M? did him no favor.

mooIn gives one final example:
= )93 135110 RDY 29N NXPN NTIT (0w x,x0 pL3Y) PPPTIIND 1399IN 133 ANIYMI 2N

And concerning the finding of a lost article, the X3 also states in P79

1P that a »''2m is obligated to swear and he is not believed with a w2
of 2"m>, even though that by a nX>¥n the owner did no favor to the finder.

mooin cited three examples of n"21 where there is a 7y12w 21°1 even though no favor was
done to the ¥yawi. According to ", they should have been ny12wn 7wd; since they have a
W of 9377 991, The reason a n"2n is not believed with the 1 of "M is because n"RX to
be 2"m>, However in a case where no favor is done there is no 7pm of 1¥» DX PR; the
n"21 should be believed with the 1w of 5"m2. This indicates that the 111 of »"XR is not
dependent whether a favor was granted, and in all cases a person is ™¥n 1I°R to be 2"mD.
Therefore, a n"21m does not have the 1 that he could have been 2"712.

moon will now give his explanation why n"XX:
= 71bya 2392 N9 NIYN AYNRN PRY APIND 1119 13907 0N 1929 99N NN

Rather, the n''= says that the 711 of n"RX is similar to the P that a

4 mpoin is dismissing the possibility that the 71wn is discussing a loan situation where the m>» lent the m>
ten [five] MWy 0103 to harvest, which the m> will be obligated to repay at a later date.

> The m%n claimed that the 115w» was worth a 70 and a half; thereby admitting that he owes the Mm% (only)
half a ¥90 which makes the m>n a n"amn.

% mpoin is referring to the (Xm3) [Xn»12] which states that if the owner claims that I saw you pick up the
two wallets which were tied together, and the finder claims that he picked up only one, the finder is
obligated to swear a »"21 n¥12w. See previous *"axM 7"7 MdOIN (footnotes # 9 & 10). The previous is based
on the 01pn "X given. However it may be that N9 is referring to the 73wn that 191 Yaw» X7 X% XX
227w 1PN, According to >"wA, there should be no 7312w at all since there is a 1 of 3"712, for by nX*x¥» the
finder is definitely 1°¥»; the owner did no favor to the finder.

7 This npm is utilized in a case where the woman claims in the presence of her husband that he divorced
her. The woman is believed, for if she were still married she would not have the 71v7 to claim that she is
divorced, since 79v2 %192 7910 A1°YA AWRT PR.
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woman can not brazenly lie in the presence of her husband. It is not

because the husband bestowed favors on her; but rather this is the nature of things —
- 951 99957 D9 DINY PRY

That a person cannot put up ‘a face’ to deny everything. The npin of n"xx,
therefore, applies in all situations (even) including 175 and AR*¥n.

moon offers a (slightly) different explanation:
$PPINNY PN 1IPWA 9991 19°3NY RIPN YN DTN PPN W29 S9UN 12 PNYY 1929

And the R'2%1 explained that a person is not y» when his litigant is
aware of his lie. And it is not necessary to elaborate.’

SUMMARY

"7 maintains that n"XX since he received a favor. n190IN rejects this; for it
would follow that a 11792 n"2m should be 732wn Mo, The X i states that a
NP5 NN is YawH 2.

Mmoo explains that n"XX either because he does not have the 2°15 to be 91
%o1; or he is not '¥» when the other realizes that he is lying.

THINKING IT OVER
1. What is the difference between the explanations'® of the n"- and the
X"

2. It would seem that according to the n"1 the idea of 17pw2 7°>1 1727 is not
relevant to the X120 of n"&X;!? why therefore do the 73127 maintain that 1122
1Y, since 9371 11909 0210 aTRY PR

§ See N1 "7 X, 7 Moo footnote # 6.
% See ‘Thinking it over’.

10 See footnote # 9.

1 See 17 MIX 2"m 2% NIk 7"010.

12 That is the X120 of the X"2.

13 See (also) map MR W17 MIdWA.
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